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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2013 

ELECTIVE COURSE : SOCIOLOGY 

ES0-01/11 : THE STUDY OF SOCIETY 

Time : 3 hours 	 Maximum Marks : 100 

Note : The question paper has three sections as per instruction 

given in each section. 

SECTION - A 

Answer any two of the following questions in 

about 500 words each. 

1. What do you understand by sociology ? Delineate 20 

its core concerns. 

2. Define family and discuss its role in modern 20 

society. 

3. What do you understand by consumption ? 20 

Analyse the relation between consumption and 

production. 

4. Discuss the various factors contributing to social 20 

change. 
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SECTION - B 

Answer any four of the following questions in 

about 250 words each. 

5.  Discuss the limitations of functional analysis. 12 

6.  Explain the various types of social stratification in 

modern society. 

12 

7.  Differentiate between patriarchy and matriarchy 

with suitable examples. 

12 

8.  Discuss religion as an agency of socialization. 12 

9.  Explain how values integrate personalities and 

culture ? 

12 

10.  What is polygamy ? Discuss its various types. 12 

11.  Explain the basic feature of potlatch ceremony of 12 

North East Cost Indians. 

SECTION - C 

Answer all questions in 50 words each. 

12.  What do you understand by division of labour ? 3 

13.  What is non formal education ? 3 

14.  Distinguish between folkways and manners. 3 

15.  Explain the concept of gender. 3 
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